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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

T.B.C. : B-ABQB-N-LZS “Test Booklet Series

TEST BOOKLET

ELEMENTARY MATHEMATICS /
Time Allowed : Two Hours Maximum Marks : 100,

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF S0, GET IT REPLACED BY'A COMPLETE TEST
BOOKLET. '

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll
Number and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/
discrepancy will render the Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test w
Booklet in the Box provided alongside. DO NOT '
write anything else on the Test Booklet. L 4

4. This Test Booklet contains 100 items (questions). Each itém"is printed both in Hindi
and English. Each item comprises fouriresponses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE responsejfor each item.

5. You have to mark all your respeonses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. Al items carry equal marks. .

7. Before you proceed to mark in' the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has eoncluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that/question will be deducted as penalty.

{ii} U a candidate gives more than one answer, it will be treated as a wrong answer even
if onelof the given answers happens to be correct and there will be same penalty as
above to that question.

(iii} If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question,
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o S IRl w1 = T @ gfRe & Red g8 woe

www.examrace.com



1. Pipe A can fill a tank in 3 hours. But

there is a leakage also, due to which
it takes 3-5 hours for the tank to be
filled. How much time will the
leakage take in emptying the tank if
the tank is filled initially?

fa} 21 hours
fb) 20 hours
fe} 18 hours

(d) 10-5 hours

2. A train takes 10 seconds to cross a

pole and 20 seconds to cross a

platform of length 200 m. What is /

the length of the train?

{a) 50 m

(p) 100 m

fc) 150 m "

(d) 200 m

i J
T A

3. A, B and C can do a piece of work

£

individually in 8, 12 and 15 days
respectively, A and B start working
together but A quits after working
for 2 days. After this, C joins and
works till completion of the worl.
In how many days will the work be
completed?
|

8

a) 3-= days

(a) g \j

b) 5 days
9

{c} 5—23: days

1
d) 6— days
{d) Thaed

B-ABOB-N-LZS/1A

4. The distance between two points

(A and B) is 110 km. X starts
running from point A at a speed of
60 km/hr and Y starts running
from point Bat a speed of 40 km/hr
at the same time. They meet at a
point C, somewhere on the line AB.
What is the ratio of AC to BC?

@ 3:2 m 273

) 3:4 {d 4:13

5. Ais thrice as efficient as Band hence

completes a work in 40 days less
than the, number of days taken
by B. What will be the number of
days taken by both of them when
working together?

" () 225 days

(b) 15 days
_ (c)" 20 days
{d) 18 days

6. If 10 persons can dig 8 feet trench in

12 days, then how many days will
8 persons take to dig 6 feet trench?

{a) 10 days
(b} 10-25 days
fc) 11 days
{d) 11:25 days

7. The height of a tree varies as the

square root of its age (between
5 to 17 years). When the age of the
tree is 9 years, its height is 4 feet.
What will be the height of the tree
at the age of 16 years?

fa) S feet 4 inches
(b} 5 feet 5 inches
{c} 4 feet 4 inches
{d) 4 feet 5 inches
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1. 78 A f5ft & 1 3 902 § W mear R, 4. Q) fagelt (A e B) & &9 110 km &

Ttg owd weh fona oft 3, Rad wwo 2 T 1 XTog A® 60 km/hr 1 99 @
® WA # 3 3-5 72 e B AR ywew AT W e § oM 3 W v fag
#Eh vl g g, A fem % e =@ B ¥ 40 km/hr #t =1a1 ¥ dren amwy
Qreft ¥ A Rean wag wme ®a 81 9 AB W& w TRt fag ¢ w
(a) 21 w9 _ ﬁﬁﬁ%lAC?ﬂBCéaqgmaw%l?
(b) 20 T2 fa) 3.2 (b) 2:3
¢) 3:4 (d 43
fc/ 18 =we _ _
(d) 105 = 5. A F v B & R T R, oma: e v
_ ® QU FA H A, B3 e g f i
= ¥ 40 R+ ama & ER A
2. @ WM Bl oW W W ow -
10 ¥FvE AR T o 200m o= J!ﬁﬁ’l%(?fl’&@aﬂefﬁmﬁﬁqﬂﬁﬁ?
SHE F IR FE A 20 FEE A T [ ta) 225F7
Yol it Tard Far 27 C ) 15 fA
fa) 50 m {c) 291%:4
(b} 100 m d) 18fa
@ 150m U6 aR alge @ @ @ 8 10 e @
(d) 200 m 2R aERi @ e ad B a
J 8 =afedl @ fre fem ent?
3. A, B 3 C aFkd-akw e o =1 (@) 108
w8, 12 iR 15 At § gu +a #) .
A 3 B o =@ e #0-8, T A (b) 1025
2 R #d = % vaq SW 9 2@ (c) 11 %
T 9gE C afifes @ g, S 7 R (dj 1125 f&
g @ Ty g wE e R wE
i B § e By e 7. T&ft 93 & S= sEdht oy F aigw F
8 } IER wEed & (5 @ 17 adf F =)
fa) 35%F w7 %5 H g 0 7 2, A R Sk
: 4 %2 &l 16 94 F oy A 7@ U5 A
{b) sgﬁq ST T AR
L (@) 5F2 47
g3 B 5YES
(@ 6— fa © A3t
18 (@ 43258
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8. The ratio of ages of Aand Bis 2 : 5

and the ratio of ages of B and C
is 3 : 4. What is the ratio of ages of
A, Band C?

fa} 6 :15: 20
(b) 8:5:3
fcg 6:5:4
(d 2:15: 4

9, When an article is sold at 20%

discount, the selling price is ¥ 24,
What will be the selling price when
the discount is 30%?

@ 25
(b) ¥ 23
fcg ¥ 21
(d) €20

10. A shopkeeper sells his articles at

their cost price but uses a faulty
balance which reads '\’".IQ(')O g for
800 g. What is his) dctual profit
percentage? '

(a) 25%
(b) 20%
(c) 40%
(d) 3Q%

11. The diffefence between compound

interest land simple interest for
2 years/at the rate of 10% over
principal amount of ¥ X is ¥ 10.
What is the value of X7

fa) ¥ 100
(b) ¥ 1,000
) & 500
(d) ¥ 5,000

B-ABQB-N-LZS/1A .

12. A sum of money becomes 3 times in

5 years at simple interest. In how
many years will the same sum
become 6 times at the same rate of
simple interest?

fa) 10 years

{b) 12 years

{¢) 125 years .
(d] 10-5 yeal:s

-13. A man buys 200 oranges for € 1,000.

Howimany oranges for ¥ 100 can he
sell so that his profit percentage is

T 25%7?
[ fa} 10

(b} 14
{c) +16

@) 20

14. If m% of m+ n% of n=2% of (mxn),

then what percentage of m is n?
fa) 50%

(b) 75%

(c) 100%

(d) Cannot be determined due to
insufficient data

15, If the side of a cube is increased

by 100%, then by what percentage

.is the surface area of the cube

increased?
fa} 150%
b} 200%
fc} 300%
{d} 400%
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8. AR BH AP F I 2:5 3 aW 12. 5 Ju7 T WURY A W H1E 7™ 3 T

B 3 C f g | IEE 3:4 B B It B FuTm =™ f gHE W W
y A, B3 C i ang =l gara w0 R7 T g3uty fRe avt # 6 T 7 S

fa) 6 :15: 20 fa) 108

(b} 8:5:3 m 12 &

¢} 6:5:4 . 125 74

d 2:15:4

{d) 10-5ad | { 1
9. ¥4 fFHl a8 F 20% H T W 3= /O '
&, a1 3uht forra i @ 24 31 30% 13. #¥ =afe 200 @=at € 1,000 & @liea

@ €1 W IR o A @ del? a8 ¢ 100 & R T a9 W 3 i

(@) ¥ 25 ' St wr-viasiadr 25% &7

B T 23 L 10

) 21 o 14

(d) &20 o\ 1,.5.
IO.EWmaﬁaﬁqﬁﬂm (d)rQ(_)

$a W AT 2, Weg T8 TF 990 T, r

F oW W ¥, W 800g Hofy 14 WM M B m%+n B oa%=(mxn) H

1000 g =WiaT 2| sl areaf e 2% &, A n, m N e vl 27

wiferaraay 1 27 v @ 50%

(@) 25% (b) 5%

(b) 20% ) 100%

fe) 0% (d) Aty iESt & Fw i T4 e

(d) 30%

alf

{ SiRET

K ?f;l;%wﬁ a@“;é%‘?;x fﬂf:ig 15. R fe o 4= 100% e € S, A

S A T 10 F A= 21 X A HA R T E g A e i 9
&7 ' e
@ ¥ 100 (@) 150%
@)\ & 1,000 (b) 200%
{c) ¥ 500 {c) 300%
{d) ¥ 5,000 {d) 400%
B-ABQB-N-LZS/1A 5 [P.T.O.
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16. How many pairs of positive integers 19. Consider all those two-digit positive
m and n satisfy the equation integers less than 50, which
when divided by 4 yield unity as

_1-+i = 1 remainder. What ig their sum?
m n 12
(a) 310
where n is an odd integer less (b) 314
than 607
{cg 318 /
faj 7 (d} 323 :
fb) 5 ' 20. If every side of an equilateral triangle
is doubled, then the area of new
fc 4 : triangle beécomes k times the area of
“ the old one. What is k equal to?
{d) 3 ;
fa) J3
17. The sides of a triangle are in the/ ‘fb) 2
ratio 1.1.1 If its perimeter is |
2'3'% P L J ) 4
52 cm, then what is the length of | (d) /8

the smallest side?

21. If a, =3-4n, then what is

@ 9 cm -\ A a, +a, +ay +---+a, equal to?

{b) 10 cm i |:1+2+3+4+-..+n=ﬂ12ﬂ}

fc/ 11 cm

[dj 12 cem ¢~ (@ -nfdn-3) (b} -n2n-1)
¢} —-n? (d} -n2n+1)

18. The diameter of a metallic sphere is
6 cm. 4The sphere is melted and

drawn ’ilnto a wire of uniform 22. A train travels at a speed of
circular gross-section. If the length 40 km/hr and another train at a
of the wire is 36 m, then what is speed of 20 m/s. What is the ratio

its radius equal to? of speed of the first train to that of

| the second train?
{aj 0'1llcm

fa) 2:1

{b} 001 cm M 5:9

(C) 0-:001 cm fc) 5:3

{(d) 1-0 cm (d 9:5
B-ABQB-N-LZS/1A 6
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16. UAHE QUiEH m IR n F Fe gw

L picau

+

31

1
12
Fl, & n, 60 ¥ w1 faw Qs 2, Tge
A 27

3|~

faj 7
NG
fc) 4
(d) 3

1

17. ﬁ»‘@ﬁﬁgﬁﬁgﬁ%:%:z%mﬁ

21 aft e ofom 52 cm @, @ TR
B = Y ws w87

fa) 9 cm
(b} 10 cm
{fc) 11 cm

(d) 12 cm

18. felt aifes 7 &1 &1@ 6 cm 3| TS =
o W A T TR R
AT T AR % &9 A i e &) AR an

$ = 36 m ¥, @ T e
F GO 87

{a) 01 em
fb) 10-01 cm
) 0001 cm

{d) 10 cm

B-ABQB-N-LZS/1A

19. 50 & &9 37 Wil B3R wawws it
w fomm i, frg ARk 4 @ wm R
ST, @t YT SIS 1 8t IR AN
27
() 310
(b) 314
fc) 318
(d) 323

20. R et Ty Bgw 1 5@F oo A
A oW R osw, @ W@ B W
{The T @ & fsa & kA

ST 8| & T WA g7
fa)| v3 |
(o \2 /
0 '4f
(d) 8-

21, 7fe a, =3-4n, al
Q) + @y +ay + -+ a, HAW AT

{1+2+3+4 ++n= n{n; 1)]

(@ -ndn-3) (b)) -ni2n-1)

c) -n> (d) -n2n+1)

22, TF WML 40 km/hr i 99 ¥ I
an g W 20m/s #F 9E @
ol B TRl W F w@ w1 g@d

Tt Y v & STE = g?
f@ 2:1
) 5:9
e} 5:3
[d} 9:5
[P.T.O.
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23. (x+ y):{x~y)=3:5and xy = positive
imply that

{fa) x and y are both positive
(b} x and y are both negative

(c) one of them is positive and one
of them is negative

{d] no real solutions for x and y

exist

24, How many pairs of X and Y are
possible in the number 763X4Y2, if
the number is divisible by 9?

(a) 8
(b} 9
€ 10

{d 11

%

25. What is the remainder whed 41012 is
divided by 7? b

|- e
Y A

fa) 1
(b) 2
{c) 3

(@) '4$in

26. What fé’i' the highest common
factor jof 2x3+x?2-x-2 and
3x3 -2x2 4 x-2?

fa} x=1
(b) x+1
fc) 2x+1

[d) 2x-1

B-ABQB-N-LZS/1A

27. What is the remainder when

(1235x4523 x2451) is divided by
12?7

(@ 1
(b) 3
(c) 5
(d) 7

L

28. What is the remainder when
(1722 +2323 + 2923)5s divided by 23?

(@) 0
) 1
| (e 2
| {d} 3

29, p, q"and r are prime numbers such
; that p<g<r<13. In how many

cases would {p+q+r) also be a
prime number?

(@) 1
(b} 2
) 3

(d) None of the above

30. The LCM of two numbers is 90 times
their HCF. The sum of LLCM and
HCF is 1456. If one of the numbers

is 160, then what is the other
number?

fa} 120
(b) 136
(0 144

(d) 184
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23. (x+y}:(x-y)=3:5 3N xy = T, 27. (1235x4523x245]) % 12 & v 33 i

w1 §E T §7 A T 27
rfa} xﬁyﬁﬁﬂmﬁ faj 1
(b} x 3R y 34 & Foner § (b 3
(c) QA TH T AW I A w fc) 5
AT § ' @ 7
(d} x 3 y & o #F aafys 7= f -
T 7t 2 28. (172342323, 208 F3 Fym A W
% w7 g7 -
24, WG 763X4Y2 H X 3N Y ¥ fF qm (a)s 0
TE §, IS T 9 | wrsg A7
(bj 1
fa 8 (o) 2
(B 9 o #
{c/ 10 f
(@ 11 L 29 p, qfIR r® R H s ded §
a A ﬁ'ﬁp<q<r<13 31 fredt Tt A
, )
25. 41012 @ 7 § wm ¥ W Svew =Y {p+q+r) ¥ T 3vTsa dem At
" (@ 1
fa) 1
2
{c 3
{c) 3
(d) T T ¥ FE
{d) 4 ' &

{ 30, @ Wemait F LCM % HCF &l 90 71

26, 2x34x%-x-2 M 3x3-2x2+x-2 F

21 LCM 3 HCF #1341 1456 ¥ af2

HEAH TGS 9] 87 T% 671 160 B, @ @ 9&d = 27
faj x-1 (@) 120
(b}l x+1 ®) 136
(c) 241 () 144
(d) 2x-1 d) 184
B-ABQB-N-LZS/1A 9 [P.T. 0.
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31. The LCM of two integers is 1237. 34. If ax+by-2 =0 and axby = 1, where

What is their BCF? a#0,b# 0, then what is {a’x + b2 y)
equal to?
{a) 37
(b) 19
{a) a+b
{c) 1
{d} Cannot be determined () 2ab :,.- :
32. What is
1 1 2b 4p3 8b7 (¢ a*+bp°
a-b a+b a2+p% g*+p* ¥ -pt
equal to? . F s (d) a*+b?
fa} a+b
(b} a-b 35 Consider the following statements :
() 1 ol
.4 / 1. {a-b-c)is one of the factors of
(d) O = | 3abc+ b3 +¢% ~ad.
33. A man rides one-third of the distance 2. (b+c—1)is one of the factors of

from A to B at the rate of x km/hr
and the remainder at the rate of
2y km/hr. If he had travelled at a
uniform ratelof 6z km/hr, he could
have ridden from' A to B and back
again in the same time. Which one
of theffollowing is correct?

3be+ b +c3 -1

Which of the above statements
is/are correct?

(@) z='.J,E-l?y fa) 1 only
(b} 3z=x+y (b) 2 only
#F x Y {c) Both 1 and 2
{d) _1_ = l 4 l
2z x Yy (d} Neither 1 nor 2
- B-ABQB-N-LZS/1A 10
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31. < quiwl 1 LCM, 1237 ¥ 3@ HCF
= 87

(@) 37
(b) 19
(c) 1
(d) fRutfa =€ fran s gean

32.
1 1 9p  4p® s’
a-b at+b g24p? g% 4+p* B -p8
T s 87
{a} a+b
(b} a-b
feg 1
d 0

- i

T k

33.@§mﬁsAﬁBamaﬁw-%%|§§ﬁ
xkm/hr 1 WA 79 Far ¢ 3N Ay
W 2ykm/hr H WA FF@ ¥ AR
98 6zkm/hr & THEEA R T I
Fl, @ 98 A B IR % amw
mﬁmﬁwmmiﬁmﬁff@aﬁ
¥ - w7

fa) z=x+y I

[
|

(b) 3z=x+y,

B-ABQB-N-LZS/1A 11

34, IR ax+by-2=0 3R axby =1, W&

a0, bz0 @, @ (a2x+b2y) [EZ:C)
TR 37

{a) a+b
(b} 2ab

c) a°+ b_3

y {d) ,a4+b4

35. Frfufes w9 w0 R £t -

1.| @a-b-c¢), 3abc+b® +c%-43
¥ uTaedt 4 | o By

2. (b+c-1), 3be+bd+cl-1 F

st & & w4

S ol A A AR w4/

fa) a1

(b) Fac 2

(¢) 13w 23dE

(d) Fd1maB2

{P.T.O.

www.examrace.com



36. 710_ 510 i3 divisible by 38. What is the number of divisors

of 3607
fa) 10 fa) 12
{b) 18
(b) 7
(c) 24 .
(e) S {d) Nome of thefabove -
fd}y 11 39. The multiplication ofsa three-digit
number XY5 with digit Z yields
X215. What is X+Y + Z equal to?
37. Consider the following statements (@ 13
in respect of four spheres A, B, C | J
and D having respective radii -
6, 8, 10 and 12 cm : _J_.'{bj 15
1. The surface area of sphere Cis fc)- 17
equal to the sum of surface |
areas of spheres A and B. (d) 18

2. The volumme of spHere D is
equal to the sum of volumes

40. If the equation x2+2(1+k)x+k2 =0
of spheres A, B and C. aq ( )

has equal roots, then what is the

: value of k?
Which of the above statements
is/are correct? (@) =
' 4

{a) 1 only

| 1

b -3
(b} 2 only
(c) Both 1 and 2 fc) 1
(d) Neither 1 nor 2 {d -1
B-ABQB-N-LZS/1A 12
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36. 7'0_ 510 frgq vy 27

{a) 10
b} 7
) 5

[d 11

37. wR W A, B, € 3k D $ feart wuw:
6, 8, 10 3R 12cm ¥ I el &
g 1 frafefias =@t w fem fif .

1. A CF gE &F%a, Tl A S
B & Y awel % A F g
2l

2. T D& 3T, Mol A, B AR C
% HEaA) & 0 F qOE 2

i

I et éﬁaﬁq—m/ﬁ T /87
4

{a) %34 1 1

(b} HTHA 2

(e)y1 3R 2 gl

(d) Id1MmadH2

B-ABQB-N-LZS/1A ' 13

38. 360 % Wi & A1 F47 &7

fa) 12
(b} 18

c) 24

() s A

39. dR-E T XY5 ® IF Z F Wy
ARG X215 81 X+ Y + Z e st
o %? ¥

fa) lé
w) {15
! 17

(d) 18

40. AR oW x2+2(1+k)x+k? =0 &

WA A |, @ kW AW R

1
(a) 2

1
(b} "3

{cg 1

(@) -1

s PITRO
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41. If m and n are the roots of
the equation x%+ax+b=0, and

m?2 and n? are the roots of the

equation x2-cx+d =0, then which
of the following is/are correct?

1. 2p-a?=c¢
2. b?2=d

Select the correct answer using the
code given below.

faj 1 only

fb) 2 only
{c; Both 1 and 2

(d) Neither 1 nor 2

42. If N2 -33, N2-3land N2 -29 are
prime numbers, then what is the
number of possible wvalues of

N, where N is an integer?
' &

alf

e |

@ 1 |
b} 2
{c} 6

(d) None of the above

B-ABQB-N-LZS5/1A
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43. There are 48 cricket balls, 72 hockey
balls and 84 tennis balls, and they
have to be arranged in several rows
in such a way that every row
contains the same number of balls
of one type. What is the minimum
number of rows required for this to

happen?
(@ 12
(b) 16
fc) 17
19

wfd)

44. The HCF of two natural numbers
m and n is 24 and their product
is 552. How many sets of values of

. Jm and n are possible? ’

g A

(b} 2

fc) 4

(d)

No set of m and n is possible
satisfying the given conditions

45. If m and n(m > n} are the roots of
. the equation

7(x +2a)? + 3a? = 5a(7x +23a)

where a> 0, then what is 3m—-n
equal to?

fa) 12a
(b}
fc)

d

l14a

15a

18a
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41. I @iiFT x%+ ax+b=0% T m 3K

niﬁﬂmmﬂx2—cx+d=0.%htm

m? 3 n? @ @ fsfafes d @
FR-A/R /27

43. f5Fe H 48 W&, gH H 72 K i

¥ $t 84 el w1 w2 ufiedl # tw wER
=gfeda wen & 6 Toe 9t § & yeR
# ¢ wm = W d W TR |
N wEf # F o sravas gaew

1. 211_')—(;;,2 = ql%ﬁz“ Eﬁmmg?
2. b2=-4g (a) 12
e Re g w1 oW oW o W S
T : €) 17
(d) 19
(a} Fad 1 ; e
| 44. B equt @EmAt m 3K n F HCF, 24 3
(b) % 2 R I IR 552 B om 3 n F
W F TR w37
(c} 132 A (a)ﬁl_ '
. o (b)[ 2
(d) @ 13RI 2 .
b 4 b fc) 4

@ @ T wmi W owgE T ¥ R

m 3 n 1 X aEY gvE TE 2

42. 3R N2-33, N?-31 Wy N2 -29
WW%%,HETQ;;;;&;WW 45, A& m A’ n(m > n) SiEwW

w 7(x +2a)? + 3a? = Sa(7x +23a)

- 4
|

@) 1 . Fam €, T a>08, @ 3m-n e
T Y
by 2 @) 12a
\ 14
o 6 (b) l4a
; fc) 15a
(d) I9gw & B 7 7 (d) 18a
B-ABQB-N-LZS/1A 15 S P TO,
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46. A person selling an article for ¥ 96
finds that his loss percent is
one-fourth of the amount of rupees
that he paid for the article. What
can be the cost price?

(o) ¥ 160 only
b} ¥ 240 only
fc) ¥ 160 or ¥ 240

(d) Neither ¥ 160 nor € 240

47. If (x+k) is the common factor of

x?2+ax+b and x2+cx+d, then

what is k equal to?
(@) {d-b)/{c-a)
(b) (d-b}/la-c)
(c) (d+b)/(c+a)

(@ (d-b)/icka) |

48. What i€' the remainder when
x5 - 5x% 4125 is divided by x + 5?
|

(@) O
(b) 125

¢ -3125

(d} 3125

B-ABQB-N-LZS5/1A
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49, What is the

lowest common
multiple of ab{x? +1}+ x(a’ + b?}
“and ab(x? - 1)+ x(a® - b?)?

(@) (@®x? -b?)(a+bx)

b (a%x? -b%)fa+bx)?

9 (@2x? -b?)(a-bx)

) @2x? -b?)(a-bx)?
| L ]

50. A certain number of two digits is

three times the sum of its digits. If
45 is added to the number, the
digits will be reversed. What is the
" sum of the squares of the two digits
of the number?

fa) 41

fb) 45

{c) 53

(d) 64
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46, uE =i Tl arg =1 € 96 # A=a ¢ =ik 49. ab(x? + 1)+ x(a2 + b?) afk

m%ﬁimaﬁ-ﬂﬁmmma@ ab(x2—1)+x[a2—b2} WY
& o g ™ vl @ - R e
TG 8 ek 87

(o) Fad T 160 @) {a2x2 - b2)(a+bx)

(b) 9 ¥ 240
c) 1609 & 240 b) (@%x? -b?)(a + bx)2

(d} A7 ¥ 160 T & € 240

© (d%x? - b2)(a - bx)
47. 3R x? vax+b WM x2 +ox+d = WE
TGS (x + k) B, O k Fres aoe 87 | 4
(d (@®x%-b%(a-bx)?

" |

{a) (d-b)/lc-a)
b} (d-Db)/la-c)

{c/ [d+b)/(c+a) X .
50. B 3H N N G0 I9F SH T A hH

([d) ({d-b)/lc+a) { . Eﬁq‘fﬁ%iﬂﬁwmﬁzlsaﬁgrm,
{ A oiF Iopfha @ s @en ¥ A
3T & It T Aeree w R7
' 4
48. uﬁx5—5x2+;gsaﬁ x +5 ° formifsma
¥ S, < YuwE 7027 (@) 41 '
(@) © (b) 45
) 125
-. fc] S3
{c) -3125
{d) 3125 (d) 64
B-ABQB-N-LZS/1A \ 17 [(P.T. 0.
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51. If from the top of a post a string 54. If 0<8© <E,

then what s
twice the length of the post is

stretched tight to a point on the J1-2sinBcos8@ equal to?
ground, then what angle will the
string make with the post? (a) cosb-sinb
(@) m/6
{b) sin®-cos6
(b) /4 {
fc) 5n/12 {c) i{cosB—siné)
(d =/3

(d) cos@sin®

52. The price of a commodity increased |
by 5% from 2010 to 2011, 8% from

2011 to 2012 and 77% from 2012 [ 58 If .-tan9+°;t9 R & | then What s
to 2013. What is the average price | sinB+cos® equal tof
increase (approximate) from 2010 W, 1
to 20137 (@ L,

__
(a) 26% .4 |

- S (b) L

(b) 32% TR, 73
c) 24%

e 2
(d) 30%

53. A railroad curve is to be laid on a
circle. What radius (approximate)
should be‘used if the track is to
change direction by 25° in a

. secx
distance of 120 m? 56. What is cotx+ tanx equal to?

{aj 300 m {a} sinx

(b) 280 'm (b) cosx

(@ 275 m fe) tanx

(d} 264 m {d) cotx
B-ABQB-N-LZS/1A 18
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51, R et @ A T @ g = wR 54. . 0<6<Z @ T 2sinBcosd

Tl T % RrEr & wew & el fag m
FER G T, @ oum owS F a fobereh st 27
R =1 s@n?
fa} cosf-sinb
(&) n/6
(b} sin®-cos8
b} m/4
{c) Z*(cos8-sinb) ]
(c) Sm/12
{d} cosBsiné
[d) n/3
55, IR -te';n.9+cot9=2,' W sind+cosH
52. fordl a5g &t fima # 2010 ¥ 2011 @ A frer o 37
5%, 2011 ¥ 2012 @& 8% a1 2012
¥ 2013 @ 77% # 3fg A }1 2010 ]
# 2013 T 3hwm Fiva g (sgER:) @h 3
w1 7Y
@) 26% Y {1
a) N ®
(b) 32%
(c] 24% . (c) <2
{d) 30%
d) 1

53. us Yemn! w% feefl 39 w fammn s 2
' feaft foom (s ot s nfe,
afk tomwl # 120 m # 3 F 25° fwm 56. ——CX _ frmeh s 27

Faer 27 . cotx +tanx
(a) #300 m ' (a) sinx
{b), 280 m {b) cosx
() 275 m (c) tanx
{d} 264 m {d} cotx

B-ABQB-N-LZS/1A 19
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57. From a certain point on a straight 59. What is
road, a person ohserves a tower in
the west direction at a distance of

200 m. He walks some distance (sin2 x - cos” x)[l—sin2 xcos x|
‘along the road and finds that the
same tower is 300 m south of him. equal to?
What is the shortest distance of the
tower from the road?
fa) sin* x - cos* x y,
300 .
(@) — m i '
J13 '
(b} sin® x ~cos® x
500
(b) — m
13 - 5 T
{c) cos® x-sin” x
600 .
fof] — m J
13 j (d) sin® x -cos® x
900 '/
{d] —=— m :’.-
+/13
" 4 !
. N A
58. What is SnX—COSX+ A equal to? 60. What is
sinx+cosx- 1" #
sinx -1 (sinxcos y+cosxsiny)
fa) —— _ (sinxcosy-cosxsiny)
COS X
i
equal to?
.
sinx+1
(0} _—‘_Cos-{ (a) cos? x ~cos? 7]
.'
. {b) cos? x - sin? 17
sinx -1
e} ———
cosx+1
{c} sin? x - cos? Y
(d) sinx+1
cosx+1 {d) sin? x - sin? 7]
B-ABQB-N-LZS/1A 20
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57. @1 =fr & et wew & et ©w fag @
foreft w1 ufzm faem & 200 m i gl
W GH ¥ 98 AT I wEE WEFB W
9o W e ¢ 6 ad A we i
e & 300m H g w B R H

HeF @ wgan g w0 27

300

{a) ﬁm

500

(b} _ﬁ_ﬁm

) 2 m
73

fd) — m

58. sinx-cosx+1 mw%?
sinx+cosx -1

sinx -1
(a)
COS X
4
sinx+ 10
(b ,
COS X
sinx~-1 .
(] ———
cosx+1
' sinx+1
(@) ————
cosx+1

B-ABQB-N-LZS/1A
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60.

59. {sin2 x —cos2 x)(l—-_s;in2 xcos? x)
Tohreh e &7
4 4

fa} sin” x-cos™ x

(b} sin® x - cos® X, -

fo) cos® k -sin® x

'sin® x —cos® x

{sin xcos y + cos x sin y)
(sinxcos y - cos xsin y)

forerek sTem 27

(a} cos? x-cos?y

(b) cos? x-sin?y
2

fc] sin x-cos? y

(d) sin? x -sin? y

. [P.T.0.
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61. What is 66. What is the number of pairs of

icul . 2
(1+cotx —cosecx)(l + tan x + sec x) perpendicular planes in a cuboid

equal to? (@) 4
(a} 1 (b) 8
(b) 2 ' ¢ 12
fc) sinx {d) None of the above .
fd} cosx {
62. What is 67. How many cquﬂa.te‘_ra.l triangles gan
. be formed by joining any three
(cosecx - sin x){sec x - cos x){tan x + cot x) vertices of a cube?
equal to? {a) 0
fa} sinx+cosx (5} 4
(b} sinx-cosx
(c) |8
(0 2 . |
@ 1 : | (d) | None of the above

| J
i i
]

63. Consider the following statements :

, ) For the ext two (2) items that follow :
1. sinl®>sinl =

2. cosl<cosl 4 ABCD is a trapezium in which AB s parallel

Which of the above staternents to CD. Let M be the midpoint of BC
is/are correct? .

¥ i

68. Consider the following statements ;

1 onl
(@) ony 1. ‘Area of triangle ADM + Area
(b) 2 only of triangle DCM’ is equal to
fc/ Both 1 and 2 three-fourth of the area of

trapezium ABCD, if AB = CD.
2. ‘Area of triangle DCM + Area of

{d) Neither; 1 nor 2

64. If sinx +co§ecx 2, then what is triangle ABM’ is always greater
sin® x + cosec®x equal to? than half of the area of
A trapezium ABCD.
(@) 2 . (b 18
0 512 ' @ 1024 Which of the above statements
isfare correct?
65. If sinxX+cosx=p and 1 onl
sin3 x +cos? x = g, then what is (a) onty
\ p3 - 3p equal to? {b) 2 only
(@ 0 (b) -2q () Both 1 and 2
fc) 2q d} 4q {d) Neither 1 nor 2
B-ABQB-N-LZS/1A 22
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61. (1+cotx —cosecx)(l+tanx +secx)
foraes s 87
fa) 1
(b) 2
fc) sinx
{d) cosx

62.

- (cosecx — sin x){sec x —cos x){tan x +cotx}
fora e 37
{a) sinx+cosx
(b} sinx-cosx
fc) 2
fd) 1

63. Trfrfan surl W fmn fift .

1. sinP>sinl

2. coslf<cosl

F
=

Wmfiﬁﬂﬁﬂ-m/@mﬁ%l@’
fa) ¥l ¥
(b) G 2
) 132
(@ Fd 1@
64. I  sinx+cosecx=2 &, a
sin? x + cosec?x e st ¥7
(@ 2 1\ 18
(¢j 512 (@) 1024
65, 3R sinx+cosx=p 2 Gt
sin3x+cos3x=q %, a p3—3p
s w27
{a) 1O b) -2q
) 2q (d) 4q

B-ABQB-N-LZS/1A

23

66. TG FHF SIEOE 0 o qwaal

& fort w &7

fa) 4

(b) 8

c) 12

(d) Iodw # & F 7

."I-..

67. T o % Bl A vl =) Shed @ RRad

TG Bg =T ST Hehd &7
g 0

(b) 4

(c) 8

(d) T H @

emﬁaﬁafé'rﬁ (2)/ et % e .
ABCD TH guen< 3, Rrad AB, CD & @R &|

" &t f5 M, BC w1 maafag ®)

68. Fefafad #uel | fem Hifvw -

1. ‘T ADM & &3%c + B
DCM %1 8% GHevd ABCD %
ke & d-<uE & e g, Il
AB=CD?R|

2. ‘Bqm DcM =1 gaww + B
ABM ¥ &9%d Ued €A
ABCD % &9%a ¥ 219 ¥ w91 2

I Hel A | BH-A/H T /2T
() ¥ 1

(b) A 2

¢ 1323

(@) :{'&uaf&a'az

[P.T.O.
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69. Consider the following statements : Which of the above statements are

)
1. ‘Area of triangle ADM - Area correct:
of triangle ABM’ is always
equal to area of triangle DCM, fa) 1 and 2 only
if AB=CD.
(b} 2 and 3 only
2. Half of area of triangle ABM is
equal to one-eighth of area of () 1 and 3 only

trapezium ABCD, if AB=CD.

d 1,2 and 3
Which of the above statements @ an !

is/are correct?
72. Consider the following :

fa) 1 only
ABC and DEF are triangles in a
(b} 2 only . plane such that AB is parallel to
4 DE, BC is parallel to EF and CA is
(¢ Both 1 and 2 parallel to FD.
fd} Neither 1 nor 2 ..' Statement—j :
J1f angle ABC is a right angle, then
70. ABCD is a parallelogram. P and R . angleADEF is also a right angle.
are the midpoints of DC and* BC Statemnent—II :
respectively. The line PR iptefsects Triangles of the type. ABC and DEF
the diagonal AC at Q. The_ distance are always congruent,
CQ will be equal to " &
Which one of the following is correct
(@ AC/4 in respect of the above statements?
"(b) BD/3 { fa) Statement—I and Statement—II
are correct and Statement—II
{c} BD_/':f is the correct explanation of
-

Statement—I
(d) AC/S",;-

! (b} Statement—I and Statement—Il
are correct and Statement—II
is not the correct explanation
of Statement—I

71. Consider the following statements in
respect of an equilateral triangle :

The altitudes are congruent.
{c) Statement—I is correct and

2. The three medians are Statement—II is incorrect

congruent.
3. The centroid bisects the (d) Statement—I is incorrect and
altitude. Statement—II is correct
B-ABQB-N-LZS/1A ' 24

www.examrace.com



69. Prefafen semt w fmm Fifvw IH[E w H ° FHE-A 7E &7
1. Bys ADM =1 dF%d - P

:W%w%,a&AB:cp ) e 2 s
!
2. B[ ABM 1 T &% FHGH (c) a1k 3 .
ABCD % &7%a & 37134 i’ & .
T R, 4R AB= CD R @ 1,23K3 {
HYET § ¥ ®E-T/9 wd §/37
= / / 72. Trafaflas w faEr i
(a) %9 1
W% gHae 7 ABC @1 DEF 30 VR &
(b) = 2 o fn@ ¥ % AB, DE & wurd §; BC,
/ EF & Q9I<R ¢ 3 CA, FD & Al
(c) 1 3R 2 / x|
(@) @132 %ﬂg;‘—l:
| aé-a?thBCt{a;ma?m%,a’laﬁm
70. ABCD T @Al wgds ¥l P WM R DEF it G g &
Fo: DC 3 BC & worfg Bl -
PR, Brdl AC 91 Q W Ry Fh 1l :
8150 CO e wT Al ABC @ DEF & @ weg wafmam
(@) AC/4 LA
(b) BD/3 Iiw s ¥ vl #§ Prafefem & R
4 4 HH-W1 T F A7
fcg BD/4™
{d) AC/3 "'f faj -1 9 THE-N ¥H £ TN

. FYA-1I, FA-] &) T8 A 2

by ®F-1 F FFE-I TH T

71, & wheg B & e & Peferfa FoE-11, -1 H Gl =@ gt

FoAl W =R il

3
e watTew 81§
3. ¢ e Tt at f (c) Fua-1 T & To FoA-11 7o 2
3. s, wide ) fufi s 2 (d) T e B a1 FuA-1 T R

B-ABQB-N-LZS/1A 25 » A [ BxF-0.
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73. Let the incircle to a triangle ABC
touch BC, AC and AB respectively
at the points X, Y and Z.

Statement—I :
If AB> BC, then
AB+ AZ < BC+ XC

Statement—II :
AZ = AY

Which one of the following is correct
in respect of the above statements?

Statement—I and Statement—II
are correct and Statement—II
is the correct explanation of
Statement—I

{a)

Statement—I and Statement—I!
are correct and Statement—II
is not the correct explanation
of Statement—I

(b}

- i

%, k
{c) Statement—I is correct® and
Statement—II is incorrect

(@

Statement=I is incorrect and
Statement—I! is correct

74. let ABC be a triangle in which
LACB=60° ,and AC=x < BC. Let
the circle with| centre at C and
radius x meet BC at D. Let CF
be the perpendicular drawn from

C meeting AD at F.
Statement—I :

Triangle ACD is isosceles but not
equilateral.

Statement—II :
DF=x/2

B-ABQB-N-LZS/1A
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Which one of the following is correct
in respect of the above statements?

fa) Statement-—I and Statement--II
are correct and Statement—II
is the correct explanation of
Statement—1 '

."I-.
v

Statement—I and Statement—II
are correct and Statement—I|
is not the correct-explanation
of Statemnent—I

(b)

fc) | Statement—I is correct and
| Statement—II is incorrect

Statement—I is incorrect and _
i Statement—II is correct

75. Bisectors of two adjacent angles
A and B of a quadrilateral ABCD
intersect each other at a point P.
Which one of the following is
correct?

{a) 2£APB= £C+ £D
(b) ZAPB= £C+ 4D

(c) LAPB=180°~(ZA+ £B)

(d) ZAPB=180°-(LC+ £D)
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73. 73 e % w6 By ABC ®1 sgw
BC, AC3HR AB®R &A®: X, Y 3R Z
fargait @ wael wem 21

HIA-1 :
Ife AB> BC, @
AB+ AZ < BC+ XC
FoA-11 :
AZ = AY
g wel % wd § P d @
FH-H1 TF W 7

(o) F-1 & FeE-11 TH T AW
HYA-11, FoT-] F 7E == B

(b) FWA-1 T wHE-I T § W
HYF-11, HYF-1 H TE =rE T
2 .4

(c) FA-] wE ¥ au m—ulnﬁa E)

(d) FYI-I A & 9 HIA-11 e B

74, 74 g fF ABC @ fiyw & foww
ZACB=60° 3R AC=x < BC &1 WA
fit, % =g 39 Rew ¥% C o
Tt B x 8, BC B D R fireran B
TR @it & oF, ¢ 3 dE T w= 2
A AD R F ot figeman 2

HYA-]
g ACD WH3EIg § W WWg 8
FYI-1 :

DF=x[2

B-ABQB-N-LZS/1A 27

i w F wed ¥ e § @
 HH-°1 T a8 Y

(@) FEE-1 3 FE-1I T T aw
FA-11, FUA-] Y T AT &
() -1 q FEAl W E g

FA-11, FUI-LH gt =mem T
2

(c) ‘U] FE B T FYA-II T 8

.ra)j HOF-1 T & A FUA-I1 1 #

Sy

75. =gds ABCD ¥ 3 3n@d wUi A 3R B
F forvw w-g@t W g P ow
yh=afa = &) Frafafe 3 @ F9-w
T We B7

(@) 2£APB=/C+ 2D

(b) ZAPB= LC+ £D

{c) ZAPB=180° ~(ZA+ £B)
(d) ZAPB=180° - (£C+ /D)

<[ P.T:0.
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T7. Three

76. In a triangle ABC, AD is the median

through A and E is the midpoint
of AD, and BE produced meets
AC at F. Then AF is equal to

(a) 'AC'IS

(b) AC/4
¢ AC/3 {d) AC/2
straight lines are drawn

through the three vertices of a
triangle ABC, the line through each
vertex being parallel to the opposite
side. The triangle DEF is bounded
by these parallel lines. Consider the
following statements in respect of
the triangle DEF :

1. Each side of triangle DEF is
double the side of triangle ABC
to which it is parallel.

2. Area of triangle DEF is four
times the area of triangle ABC.

Which of the above statements
is/are correct? el

{a) 1 only
{b) 2 only
{c) . Both 1 and 2

{d) Neither 1 nor 2
-

78. Let ABCD be a parallelogram. Let

X and Y be the midpoints of the
sides BC and AD respectively. Let
M and N be the midpoints of the
sides AB| and CD respectively.
Consider the following statements ;

1. The straight line MX cannot be
parallel to YN.

2. The straight lines AC, BD, XY
and MN meet at a point.

B-ABQB-N-LZS/1A
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Which of the above statements
isfare correct?

fa} 1 only

(b) 2 only

fc;j Both 1 and 2
{d) Neither 1 nor 2

79. The chord of an arc of a_circleis of

length x, the height of the drciis y
and the radius of the circlepis =z
Which one of ‘the following is
correct?

(@) yRz~y)=x>
B y@z-y+4x2
(c)] 2yRz- 1 = x?
. @ 4yRz-y=x*
BO.Ier:l a triangle ABC, ZB=2-2C=2ZA.
What‘is the ratio of AC to AB?
@ VZ:1 b) ¥3:1
) 1:1 d) 1:42
81. What is the maximum distance

between two points of a cube of
side 2 cm?

fa) ¥3 cm
(b} 243 em
{c) 443 cm
(d) 242 cm

82, The areas of the three adjacent faces

of a cuboidal box are x, 4x and
9x square unit. What is the volume
of the box?

(@)
(b}
(c)
(d)

6x2 cubic unit
6x3/2 cubic unit
3x3/2 cubic unit

2x3/2 cubic unit
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76. Tqst ABC# AD, A @ =it g Wit R

3R E, AD =1 qfeg § 991 BE soM
R AC ® F R et 21 AF forass sumt

2
fa) AC/S b} AC/4
fc) AC/3 fd) AC/2

77. W s ABC % @1 ofist } @ w=
Yo di+t At ¥ oy il @ e g
@ avl T tE % g R e
DEF {1 @9=R t@nsit @ wheg 21 gt
DEF % "= # fraferfia wert w foem
Hfm

1. o DEF # W s, Bom
ABC &1 38y & 2 @ e

" .

a8 TH 3
2. e DEF 1 &%, BYe ABC
¥ Ba%el H 9N T R
IR wol A @ -/ w28 )
(o) ¥ 1 }
(b) HaE 2
c) 1 32 g

d Ad@ 1A d 2

' 4
78, W w6 ABCD u% wwrw agw 2
T e 5 X 3R ¥ w: et BC
$it AD & weaferg & o M 3R N O
Wi AB ¥R CD ¥ mwfrg §
Ffefian vt w fomm i
1. oW W& MX, YN & ¥8=1 78 |
Ly =
2.7 Wd W AC, BD, XYd MN @&
forg w firewht &1

B-ABQB-N-LZS/1A
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I FuAl § @ w-w1/Q wd §/E
(a) FaA 1

(b) AR 2

fc) 13 23

() 7@ 13MMAE2

79.qaﬁﬁwﬁarqﬁsﬁmﬂmﬁxji
w9 A I y R A g9 h B 2R
frffatadm-wmwwed a7 [

() yl2z-y=x*

(b) _y(2z-Q=4x2
A 2y0z-y=x?

(d 4y@z-y=x*

80. Th e ABC ¥ 4B=24C=2/A.

AC® AB R g #1 §7
@f v2:1 B V3:1
¢ 1:1 (d 1:42

81, 2cm ¥y 9 felt =@ & I fogant &
e tfermam g{) forehl 77
(@) ~3 cm
(b) 243 cm
() 4v3 cm
{d) 2v2 cm

82. W& WK f&=d % N 3w wosl &
8T x, 4x aW Ox T TFE &1 ==
T FAT I 27

(o) 6x2 o TTE

(b) 6x3/% w7 =g
¢ 3x3/? aq =
{d) 2x3/2 w7 g

|P.T.O.
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83. A cylinder circumscribes a sphere.
What is the ratio of volume of the
sphere to that of the cylinder?

faj 2:3
(b} 1:2
fc) 3:4
(d 3:2
84. If for a triangle the radius of the

circumcircle is double the radius of

the inscribed circle, then which one
of the following is correct?

(a) The triangle is right angled
(b} The triangle is isosceles

(¢} The triangle is equilateral
(d) None of the above

For the next two (2} items that follow :

A toy is in the form of a cone mountédion
the hemisphere with the same radiug. The
diameter of the base of the conical portion
is 12 cm and its height is 8 cm.

85. What is the total surface area of the
toy?

@) 132n.cm? |
fb) 1 1212 cm?
g

fcj 96n cmz
(d) 66n r::q.';2
86. What is the volume of the toy?
(a) 180n cm?®
(6) 2401 cm3
. (c) 300m cm?
{d) 320n cm?®

B-ABQB-N-LZS/1A
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For the next three (3) items that follow :
A right triangle having hypotenuse 25 cm

and legs in the ratio 3 : 4 is made to revolve
about its hypotenuse. (n = 3-14)

87. What is the volume of the double
cone so formed?

(a) 3124 cm®

() 3424 cm3 d

(c) 3768 cm? { s
(d) 3924 cm3 [

88, What is the surface area of the
double«cone so formed?

f{a) 11012 ¢m?
(b} 1111-4 ¢m?
{c) 13104 cm?
(d} 13188 cm?

89, Consider the following statements :
J ;:,.1' The wvolume of the cone
. generated when the triangle is
made to revolve about its
longer leg is same as the
volume of the cone generated
when the triangle is made to
revolve about its shorter leg.
2. The sum of the volume of the
cone generated when the
triangle is made to revolve
about its longer leg and the
volume of the cone generated
when the triangle is made to
revolve about its shorter leg is
equal to the volume of the
double cone generated when
the triangle is made to revolve
about its hypotenuse.

Which of the above statements
isfare correct?

(a) 1 only

(b) 2 only

(¢ Both 1 and 2
(d) Neither 1 nor 2
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83. T% s fRft e ® 9fod w2 0 A T di (3) W % fee

e "gfm WA F AT X o e fge @), R 3 25 om & 9
ST T & 3:4 % Agua A &, oW F F qiE: qiem

(@ 2:3 AT ST 2 (n = 3-14)
(b} 1:2 87. 3u waw Fiffa fwig @ o =a?
fcg 3:4 (@) 3124 cm?®
(d) 3:2 (b) 3424 cm3
84. 7R foeht B % R 38 g ¥ wham (e 3768 cm®
Eﬁﬁwmﬂéﬁﬁmﬁ'@:ﬁ {d) 3924 cm?3
%, @ Prerfefes € & 9-m w7 88. 9 = Fiffs fyg = o dwa =0
(o) P T 3 .
(b) ﬁaamﬁmg% fa}* 11012 em?
(c) et T 2 {b)lllll-4cm2
@) T QP | (c) | 13104 cm?
\(d) 13188 cm?
89. RERifaa e = Rram B ;
T 3T AR 7Y (2) wE & Y A\

@%ﬁm@mﬁﬁémaﬁﬁﬁmﬁw%
TH SF & T A F| WHT W & YR F AW
12cm%a‘§’¥l€ﬁ*ﬁ1§8cm%!

85. faein =1 T& gt gEwa R 87
fa) 132n cm? j
(b) 112m cp2
fc) 9én cx;:f__
(d) 66n cm?

86, faeiit F1 e w1 87
{@) 180m cm®
'\ (b) 240ncm?3
I(C} 300n cm3
(d) 320m cm?
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uferuor I ® Sa
IR, B AT W & qita: B
= ofEm w8 wfe uF %
AT T THH B

2. 9 anh g F ofm: g W
qiEEEY A B ST T & TR
e B et g % ufe: Bog w5t
ufgEaur O ¥ IHE O & g
w Am, w0 & daitg: e W
e w @ W Byg %
I F TR B

Sqg s d @ F-w/A wd 287
(@) F 1

(b) F=<d 2

(¢ 1328

(d) Ta1MmAH2

1. =@ awht g & o fBygw &
w§

.[P.T.O.
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For the next three {3) items that follow :

A piece of land is in the form of a
parallelogram and the perimeter of the land
is 86 m. The length of one side exceeds
the other by 13 m and one of the diagonals
is 41 m.

90. What is the area of the
parallelogram?

fa) 63 m?
fb) 96 m?2
fc) 126 m?2

(d) 252 m*

91. What is the shorter height of the
parallelogram?

T k

i

(a} 90 m
() 75m

fc) 55 m

' 4
(d) 45m
1

92. Consider the/following statements :

1. The difference between the
diagonals of the paralielogram
iIs more than 20 m.

2. The difference between the
heights of the parallelogram is
more than 10 m.

B-ABQB-N-LZS/1A
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Which of the above statements
is/are correct?

fa) 1 only
(b} 2 only
fc} Both 1 and 2

(d) Neither 1 nor 2

."I-.
v

93. If one of the roots of the eguation

px? +gx+r=01s three times the

other, then ! which " one of the
following relations is correct?

(@) 3q¢% = 16pr
()| g% =24pr

fc) p=g+r

r{a‘.} p+rg+r=1

94, If the radius of a circle is increased

by 6%, then its area will increase by
(a}) 6%

fb) 9%

(¢} 12:36%

{d) 16-64%

95. The class which has maximum

frequency is known as
{a) median class

(b} mean class

fc} modal class

{(d) None of the above
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AW A A A= (3) ye & R

TS 3@vE =R S & w9 ¥ oM yEme W
afere 86 m }1 UF & A AT, El = |
13 m 3% 2 3 30% & ol ) @ =K 41 m
]

90, THIRR 9w 1 F6c F1 27
fa) 63 m2
(b} 96 m?2
c) 126 m?

(d) 252 m?

91, AR =gy $it S el I 7R

T k

fa) 90 m Vi
(b} 75 m

fc) 55 m

' 4
(d) 45 m

|
[
|

902. Frfifan w91 o frar Hifn ;

1. o agys & faeol § 20 m @
TR FT W B

o AR S A SR d 10m @
STET o IR B

B-ABOQB-N-LZS/1A

IRfE T § A BA-w/A T Y8
(@) Fas 1

(b} FIE 2

(c) 1323

fd A 1IdH2

."I-..

93. R} wllFw px2hgx+r=0 % Tl

% ¥ U g qW q@ e T TR, @
Faferfiag 3 8 F9-w & gy v 27

(@) 3q* =16pr
®) q®=24pr

') p=q+r

{{d ptg+r=1

94. IR Bt g A Bsw N 6% @1 B
e, i 3uEH SAGd R 9g smam?

faj 6%
(b) 9%
fc}] 12-36%
{d) 16:64%

95. HYHan aRFaARal At 9+ F11 Fed 37
fa) wfeET Tt
(b) =
fc) wgo @
(d) 3ITF A A B T

[P.T.O.
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96. Consider the following statements

related to cumulative frequency
polygon of a frequency distribution,
the frequencies being cumulated
from the lower end of the range :

1. The cumulative frequency
polygon gives an equivalent
representation of frequency
distribution table.

2. The cumulative frequency
polygon is a closed polygon
with one horizontal and one
vertical side. The other sides
have non-negative slope.

Which of the above statements
is/are correct?

(a) 1 only
(b) 2 only
{c) Both 1 and 2

{d) Neither 1 nor 2

T k

97. Consider the following dafc_a" A

1. Number of complaints lodged
due to road accidents in a
State within a®  year for
5 consecutive' years

2. Budgetary allocation of the
total -aggilable funds to the
various items of expenditure

Which of the above data is/are
suitable for re'presentation of a pie
diagram?

{a} 1 only
b} 2 only
fc) yBoth 1 and 2

{d} Neither 1 nor 2
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98. When we

.llll

take class intervals
on the x-axis and corresponding
frequencies on the y-axis, and
draw rectangles with the areas
proportional to the frequencies of
the respective class intervals, the
graph so obtained is called

fa) bar diagram
fb) frequency curve
(c] ogive,

fd) None of the above

/99, If x;’s/are the midpoints of the class

intervals of grouped data, f;'s are
the /corresponding frequencies and
X/is the mean, then what is
3 f(x; ~X) equal to?

(ctzj 0
(b} -1
{c) 1

(d} 2

100. Ten observations 6, 14, 15, 17, x + 1,

2x - 13, 30, 32, 34, 43 are written in
ascending order. The median of the
data is 24. What is the value of x?

{a) 15
(b} 18
(c) 20

{d} 24
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96, TF FATAl 90 F Tl AR Fgya
¥ wafa frefafen wedt @ fem

#ifs, amwemad vt F e it @
=@ B € -

1, @i SwEnd SgyH, S
7wl w1 g P wem
Tl 2l

2. WA AOIRA TGYF T 9% qgy
2 frefl & o e 9 & wen
S 31 I et ) v_vmE
O R

I Al 7 @ BE-T/A T@ B/E7
fa) ¥ 1

(b) FTH 2

c) 132 M

[d) Fd1amad2

T k

97. frefifea siteel w e Bl -

1. 5 %ar a6l & ol o Tt | o
o & N Y USE FIREl % R
T B4 Il fireEdl ) den

2. =g & fafim gt & 3@ IveEw
fiftrat & s s

T et B A Pe-a/d goRa
Pt R/ < 2 /%7

fa) FaF 1 |

| (b) 2

(c) 1 3 2 3

(d) Adq1sthado
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98. AR W T AT H »-3F W T G
FOATET B oy-AF W A qA A"
e s fawe -39 it
<l arrmaTe! % g o €, | 39 v
WTH 3oV 1 Fgelar 87

(aj <v8 M@

(bj TSN b

{c) ST

@ e A A ad

/00, at x, wim w3 @ s ®

| wafeg ¥, £, W awemad € @
| xfe 3, @ I f(x; - %) R S
g
‘fa) O
(b) -1
(c) 1

(@) 2

100. 39 9% 6, 14, 15, 17, x+1, 2x- 13,
30, 32, 34, 43 INA FA 4 @ M
B aiwE R miEew 24 &) x W AR
w17 87

{a) 15

(b) 18
fc) 20

dj 24

[P.T.O.
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Note : English version of the instructions is printed on the front cover of this Booklet,
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